
User Guide

26”6 Drawer WorkBench with Optional
Stainless Worktop

Art. Nr: PT900200 / PT900210 RVNR-01



Product Specifications

M6x16

x10

1
M6x70

x12

2
6x16x2T

x24

3
M6

x12

4

B x1

K x1

H x1

A-1 x1

x1

I x1

J x1

C x2

D x1 E x1 F x1 G x1

x4

Front
Cover

Washer

5

x4

Front
Cover
Screw

6

x2

Front Cover
Screw Kit

7

A-2

x8

8
Wood

Screws

A x1



Instructions

Front Cover
Washer

Front Cover
Screw

A

A

A D E

D

E

1PC

Cabint Back Extension-Left Back Extension-Right

1PC 1PC

6PCS

1

5
6

1

M6 Hexagon Cross
Screw w/Washer

A 1PC

Cabint Front Cover Side Cover

1PC 1PC

5 64PCS 4PCS

A-1 A-2

A-1

A-2

1

2



Instructions

A

B

C

I

F

G

H3

3

3

4

2

1

4PCS1

M6 Hexagon Cross
Screw w/Washer

A B1PC

Cabint Shelf

1PC

4 3

M6 Nylon Nut M6 Washer

8PCS

8PCS2 H

M6 Hexagon
Screw 70 MM

Worktop Frame
Bottom

Worktop Frame
Top

1PC

16PCS

I F

Worktop Frame-Front

1PC 1PC

G C

Worktop Frame-Back Adjust Feet

1PC 2PCS

3

4



B

3

4

2

B

Shelf

1PCJ

Shelf

1PC 4PCS2

M6 Hexagon
Screw 70 MM

4 3

M6 Nylon Nut M6 Washer

4PCS 8PCS

J

Instructions

5

6-1

6-2

To remove a drawer, retaining clips on sliders
need to be released by pushing
lever up(left side of sliders)
and down(right side of sliders) at the same time,
and sliding out the drawer.

After removing the first drawer, push the MIS switch on the right side
downward and the MIS switch on the left side upward.
Then, you can remove the other drawers.

The MIS system is located on both
the left and right sides inside the tool storage.

Lever up 

Lever down 



K

Instructions

7

Finish!

8

K

Stainless
steel tabletop Wood screws

1PC 8 2BO/8PCS

8
8

8
8

8

8

8

8

After assembling the stainless steel tabletop,
please remember to reassemble the drawers!

REMINDER! 



Produced in Taiwan for 
Bileko Car Parts AB
P.O. Box 542 
S-645 25 Strängnäs, Sweden
Tel: +46 771 72 00 00
www.promeister.com


